Quick Starts — Place Value

1. 6x7=___ 6x10=__ 6x3=
66+6=___ 36+6=___ 72+6=___
2.
Nearest 10 Nearest 100 Nearest 1000
8362
3926
3.

Number Line: Positive & Negative Integers
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Count back 3 from 2 =
Count back 5 from -3 =
Count forwards 6 from -1 =
Count forwards 2 from -3 =
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4. Number Bonds to 100
72 + =100 39 + =100 26 + =100

64 + =100 92 + =100 16 + =100




Quick Starts — Place Value

5 6x4=___ 6x9=___ 6x5=
18+6=___ 6+6=___ 48+6=__
6.
Nearest 10 Nearest 100 Nearest 1000
4762
9372
7.

Number Line: Positive & Negative Integers
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Count back 4 from 1 =
Count back 7 from -1 =
Count forwards 4 from -8 =
Count forwards 1 from -1 =
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8. Number Bonds to 100
83 + =100 74 + =100 39 + =100

7+ =100 27 + =100 52 + =100




Quick Starts — Place Value

9. 6x6=___ 6x2=__ 6x11=
30-6=___ 24+6=__ 54:+6=_
10.
Nearest 10 Nearest 100 Nearest 1000
8326
7429
11.

Number Line: Positive & Negative Integers
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Count back 8 from -1 =
Count back 5 from 3 =
k. Count forwards 2 from -1 =
I. Count forwards 6 from -3 =
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12. Number Bonds to 100
94 + =100 17 + =100 63 + =100

29 + =100 38 + =100 49 + =100




Quick Starts — Place Value

13.6x0=___ 6x7=___ 6Xx6=
72+6=__ 30-6=___ 6+6=___
14.
Nearest 10 Nearest 100 Nearest 1000
6283
8279
15.

Number Line: Positive & Negative Integers
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. Count back 12 from 8 =
Count back 7 from 5 =
Count forwards 5 from -9 =
Count forwards 4 from -1 =
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16. Number Bonds to 100
73 + =100 29 + =100 82 + =100

3+ =100 62 + =100 17 + =100




Quick Starts — Place Value

17.6x10=___ 6x3=__ 6x8=
42 +6=__ 12+6=___ 66+6=__
18.
Nearest 10 Nearest 100 Nearest 1000
4629
8498
19.
Number Line: Positive & Negative Integers
—
40 9 B F 6 H 4 ¥ > 4 01 2 3 4 56 ¢ 8 9 10
g. Countback9from 3=
r. Count back 5 from -3 =
s. Count forwards 7 from -2 =
t. Count forwards 12 from -10 =
20. Number Bonds to 100
53+ =100 79 + =100 99 + =100
11+ =100 83 + =100 47+ =100




